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fxy=x +2x° =3x-11

{a) Show that f{x} = ) can be rearranged as

= II. 3x+1170 | x4-2.
".,l Lox42 )
(2)
The equaton [(x) = 0 has one positive root a.
L
e H3x +11 . " ST
I'he iterative formula x, | = (| | isused to find an approximation 1o e
7 '~.__ X b2 ;
(b) Taking x, =0, find, to 3 decimal places, the values of x,, x, and x,.
3)
{c} Show that = = 2.057 correct to 3 decimal places.
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(@) x342xt=3x+1)

(X4 =3x+\\ - Lo

L= [3x+\
AL
) =0
Xa=2-2345

A3 =3-03%F
X4 =3-059

© %ga 0513 ) = O-004\4
£(2-0868) = -0-013%
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3. (a) Express 5cosx— 3sin x in the form Rcos(x + a), where R=0and ) < a < : 5 T

(4)
(b) Hence, or otherwise. solve the equation
Scosx—3sinx=4
for 0 < x < 2m, giving your answers to 2 decimal places.
(5)
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4. (i) Given that y=- el 3._, find i .
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con e dy
(i1) Given that x = tan y, show that = = —
dc I+x
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5. Sketch the graph of y = In|x|, stating the coordinates of any points of intersection with the
AXGS.
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Figure 1

A2, 3)

Figure | shows a sketch of the graph of y = f(x).

The graph intersects the y-axis at the point (0, 1) and the point A(2, 3) 15 the maximum
turning point.

Sketch, on separate axes, the graphs of
M y=f0+L & A £he T

(i) y=flx +2) +3, 9 £ 1’"‘3
(1) y = 2f(2x). sz —_— 2

O each sketch, show the coordinates of the point at which your graph mtersects the y-axis
and the coordinates of the point to which A is transformed.
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7. (a) By writing secx as ——, show that Q{HEH} sec.xran v,
COs X dx

Given that y = " sec 3x,

dy
by find =
(D) ﬁd

X

(4}

The curve with equation y = e” sec 3x, — %{ X< g . has a minimum twning point at
(a, b).

(c) Find the values of the constants g and b, giving your answers to 3 significant
figures.

(4)
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09) d e SecBx. U= V= SeC3X
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8. Solve
| cosec? 2x --cot 2x = |

| for 0 < x < 180°.
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9. (1) Find the exact solutions to the equations

(@) mGBx—-7)=5

(3)
(b) 3% =15
(3)
{i1) The functions { and g are defined by
f(x)=e"+3, xeR
g(x) = In{x - 1), xR, x> 1
(a) Find f ! and state its domain.
(4)
(b) Find fg and state its range.
(3)
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